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Kontrakt
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3SA -1
3SA -1
3¢ +1

3SA -2

Kontrakt
46 =
46 +1
6a =
35A +2
44 +3
49 +2

Kontrakt
49 =
49 =
49 +2
35A -1
49y -1
49y -1

Kontrakt
3y -1
2Y +1
3y -1
36 =
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Kontrakt
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44
3y
29

+1
-1
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5
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100 3
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60 8
1.0 4
6.0 7
1.0 2
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100 9
0.0 1
20 5
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60 3
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7.0 10
10.0 9
70 1
00 5
20 8
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8.0 10
00 9
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50 10
50 9
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6.0 11
0.0 10
9.0 9
30 3
9.0 7

Kontrakt Aussp.
S 64 -1 4B
S 64 -1 4B
S 64 X -1 4B
S 64 -1 a4
S 64 X -1 4B
S 44 +1 4B
Kontrakt Aussp.
S 49¥ +2 &6
S 4¥ +3 &6
S 44 -4 v9
S 6SA -2 4D
S 49 +2 4D
S 49 +2 4D
Kontrakt ~ Aussp.
N 44 +1 45
N 44 +2 47
N 44 +1 #B
N 44 -1 45
N 34 = 45
N 24 +3 48
Kontrakt Aussp.
O 34 = A
N 1SA +1 &4
S 4v -3 D
W 34 = 49
W 2& -1 49
N 3& +1 vYB
Kontrakt Aussp.
O 3¥ X -4 45
N 3SA -1 4D
N 3SA -1 4D
S 3SA -1 49
N 3SA -2 4D
N 3sA -1 4D
Kontrakt  Aussp.
O 4¢ = YA
N 44 -1 <K
O 44 +1 &A
W 5% -1 ¥6
O 3¢ +1 oA
O 5¢ -1 9vA

Ergebnis OW MP
100 1 4.0
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200 3 9.0
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200 11 9.0
650 5 0.0
Ergebnis  OW  MP
680 6 4.0
710 2 0.0
400 7 10.0
200 4 8.0
680 12 40
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450 3.0
480 2 00
450 3.0
50 10.0
140 12 8.0
200 11 6.0
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140 8 7.0
50 5 4.0
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